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' Part - I
BUSINESS STUDIES
-Maximum : 6Q Scores

Time : 2% Hours
Cool off time : 15 Minutes

/ General Instructions to Candidates : o \
® There is a 'Cool off tlme of 15 minutes in add1t10n to the wrltmg t1me of 2% hrs.

® You are not allowed to write your answers nor to discuss anything with others
during the ‘cool off tlme

Use the 'cool off time' to get familiar with questions and to plan your answers.
Read questions carefully before answermg

All questaons are compulsory and only internal choice is allowed

. When you select a questmn all the sub-questlons must be answered from the
same question itgelf,

Caleulations, figures and graphs should be shown in the answer sheet 1tse]f

L 2 Malayalam version of the questions is also provided.

- ® Give equatlons_wherever necessary.
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" convert raw materials into the
- finished product. Identify these
‘types of industries.

This activity is undertaken

primarily to satisfy social,
religious or cultural require-
ments of human beings. Which is
this activity ?

It is not formed by an-agreement
or by a contract. Butit comes into
existence by the operation of
Hindu Law. Name the types of
. business organisations. -

These are debentures which are |

secured by a charge or mortgage
- on'the assets of the company.
Name the types of debentures.

This is a document stzltin'g the
value and quantity of goods

entering into the country from

aborad. It is submitted to the
customs office either by the
importer or his agent., What is
this document ?

Match the following :

A B

1) Warehousing i) Mutual Funds

. - These are industries which -

(1)

(1)

1)

¢}

1)

2) Unit Trust  ii) Hindrance of time
of India ' : '

- 3) Insurance i) External
' ' ‘Communication .

'4) Telecom

iv) Cansa Proxima

(2)
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1) Warehousing i) Mutual Funds

2) Unit Trust i) Hindrance oftime
.of India S |
3) Insurance iii) External
' Communiecation :

4) Telecom.

iv) Cansa Proxima
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10.

11.
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- from a supermarket. You are to

Rajeev started a small scale steel
furniture manufacturing unit by
investing his own funds. So heis of the
opinion that his business has no
responsibility  towards the
Government, What is your reaction to
the wews of Rajeev ? (2)

Find out the odd one and give
Justification to your answer :

a) Promotion /fissue of debentures/ |
Formation /incorporation.

b)Prospectus / Table A /
Memorandum of Association /

Articles of Partnership. (2)

Choose the correct answer from
the following :

a) Indian Railway is an example of :
1} Public corporation
ii) Departmental ﬁndertaking
- 1ii) Government company.

b) Which type of organisation is LIC ?
i) Public corporation :
ii) Government company

iii) Department.undertaking  (2)

Smitha decides to purchase goods

encourage her decision by stating
any four advantages of a
supermarket. (2)
Mohan, a businessman, is not ‘
denying the fact that his business
has started earning a profit. You
have to support Mohan by stating

any four significances of earning

a profit in a business. (3)

1 10.

11.
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a) Promotion fissue of debentures/
Formation / incorporation. . -

b)'Pro.s'pectus / r‘I_‘able A/

Memorandum of Association / o
Articles of Partnership. (2)
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a) Indlan Railway is an example of
1) Public corporation _
 1i) Departmental undertaking
iii) Government company.

b) Which type of organisation is LIC ?
i) Public corporation
ii) Government company
iii) Departmental undertaking (2)
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12,

‘Mr. Balachandran, a Chartered

Accountant; is now working as a
Finance Manager in a Private
Limited Company. Mention the

category of economic activity in
‘which Mr. Balachandran belongs

13.

14.

to. Also state the feat;ures of that
category.

Rahim, a traditional business-
man, wants to. introduce
E-Commerce in his business. How
will you encourage him by stating
the benefits of E-Commerce ?

A public company can commence
business only after getting the

certificate of commencement of -

the business. Abhijith, a plus two

commerce student wants to know

-the conditions to be fulfilled to

15,

16.

K-19

obtain the certificate
commencement of business. Can
you help him ?

Under the globalised economy, a
large number of Multinational
Companies (MNCs) are emerging
all over the world. Syam, a B.Tech
student intends to take

empolyment in one of the MNCs, -

List out any six features of MNCs
for him (need not explain).

These are shares which carry

preferential rights over the
equity shares. Being a commerce

student, identify this type of

share. And state its two

preferential rights.

of

)
18.
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17.

Arun and Sanmarefnends They
went for shoppmg and-Arun

-'purchased a pair of shoes from a
‘Bata showroom. Sarun told hird

that the Bata showroom isa cham

store. But they did not know the

- 18,

19.

-services. As a commerce student,

K-19

features of chain stores. Can you -
help them ? (Mentlon any six

features).

Hudson Stephen, anindustrialist,
was not aware of the different
causes of environmental
pollution. Being a commerce
student, you can help him by
stating the causes. How can you
help him ? (Mention four

important causes of
environmental pollution). -
Ameer is ignorant about financial

you can help hlm Then you
explain :

a) The meaning of fi.nazicial
services.

b) What are included in 'ﬁn'ancial
services ? '

Sherly, a commerce student is not -

clear apout the concept of

‘ploughing back of profits’. Clarify
her doubts by stating the

meaning and merits of ploughing
back of profits.

- ®

(4)

(4)

(4)

18.

]17.

19.
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21,

Each for all and all for each'is the
motto of a co-operative society. A

co-operative form of organisation
has certain advantages. Explain

any six important advantages.
OR |
According to Chief Justice

Marshall of U.S.A., "A company

is a person, artificial, invisible,

‘intangible and existing only in

the contemplatlon of the law."

Explam the charactenstlcs of a

Joint stock company on the basis .

of the above definition. (Answer
may be limited to six 1mportant
features)

Guna Shenoy, proprietor 'Shenoy
Electronics', wants to import
electronic goods from Japan to his
store. But he is not aware of the

1mport formalities. Will you help.

him by explaining the procedure

nvolved in the importing of goods ?
OR

is a

Mathew large scale

cardamom farmer. He wants to
export cardamom to Europe. But

he is not aware of the export
promotion measures adopted by
the Government. How will you
make Mathew satisfied by

- explaining the export promotion

measures adopted by the

- (Government ?

K-19
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